

23 Star Max Global

Welcome To 23 Star Max Global

Real Crowd Funding Platform

www.23starmaxglobal.com

About Us

We are a decentralized crypto company built on the principles of transparency, autonomy, and community empowerment. Our mission is to revolutionize financial systems by leveraging blockchain technology to create open, secure, and permission less platforms for everyone.

As a decentralized organization, we operate without a central authority, giving power back to the users and contributors who make up our global community. Our ecosystem supports peer-topeer transactions, decentralized finance (DeFi), NFT marketplaces, and secure smart contract development.

With a strong focus on innovation and decentralization, we aim to eliminate barriers, reduce costs, and increase access to digital assets and financial tools worldwide. We believe the future of finance is decentralized — and we're here to build it, together.







•••

Continued



We are not just a company — we are a community-driven movement that champions financial freedom, privacy, and digital sovereignty. Our decentralized infrastructure ensures that no single entity has control over users' data, funds, or decisions. Instead, we empower individuals through smart contracts, governance tokens, and transparent protocols that encourage collaboration and collective ownership.

Our team is a global collective of blockchain developers, cryptographers, economists, and decentralization advocates. With no borders or central headquarters, we operate fully on-chain, guided by the values of opensource development, fair access, and trustless systems.

Know More

We are constantly evolving, integrating cuttingedge technologies such as:



Our long-term vision is to foster a truly decentralized digital economy where users retain full control over their assets and identity. Whether you're a developer, trader, investor, or curious learner — you are welcome here. Join us as we build a future powered by the blockchain: decentralized, secure, and fair for all.



Layer 2 scaling solutions for faster, cheaper transactions

01.

02.

03.

04.

Cross-chain interoperability for a seamless multichain experience

Decentralized autonomous organization (DAO) frameworks for inclusive governance

Zero-knowledge cryptography for enhanced user privacy and security

Decentralized

Decentralized refers to a system or process where control, authority, and decision-making are distributed rather than being held by a single central entity. In a decentralized system, no single person, company, or government has total control—instead, it's shared across a network.

In the context of crypto and blockchain, decentralization means:
✓ No central authority
There is no bank, company, or government in control.
Instead, the network is run by many independent participants (called nodes).
✓ Trustless and transparent
Transactions are recorded on a public blockchain, so anyone can verify them.
Users don't need to "trust" a third party; they can verify data themselves.
✓ Censorship-resistant
No one can block transactions or shut down the network easily.
This makes it useful in countries with strict financial controls or censorship.
✓ User ownership and control
You own your own assets, usually via private keys.
No one else can move your funds or access your data without your permission.



Binance Smart Chain

Binance Smart Chain (BSC) is a blockchain network developed by Binance, designed to support smart contracts, decentralized applications (dApps), and fast, low-cost transactions. It runs in parallel with Binance Chain and is compatible with the Ethereum Virtual Machine (EVM), meaning developers can easily migrate or build Ethereum-based apps on BSC.

✓ Key Features of Binance Smart Chain:

Dual Chain Architecture BSC works alongside Binance Chain (used for ultra-fast trading), giving users flexibility to: Transfer assets across chains Access both fast trading and complex smart contracts

High Speed & Low Fees Fast block times (~3 seconds) Extremely low transaction fees compared to Ethereum

EVM Compatibility Supports Ethereum tools like MetaMask, Remix, Truffle Developers can deploy existing Solidity-based smart contracts on BSC

Smart Contracts & dApps Enables DeFi platforms (like PancakeSwap) NFT marketplaces, games, and blockchain-based services can run on BSC

Proof of Staked Authority (PoSA) Uses a consensus mechanism that combines delegated staking and authority, making BSC fast and energy-efficient





Smart Contract

In the world of cryptocurrency, a smart contract is a digital agreement written in code that lives on a blockchain. It automatically executes actions when predefined conditions are met without needing a middleman like a bank, lawyer, or broker.

How Smart Contracts Work in Crypto: Written in Code – Developers write the rules using programming languages like Solidity.

Deployed to Blockchain – The contract is uploaded to a decentralized network like Ethereum, Binance Smart Chain (BSC), or Polygon.

Self-Executing – When someone interacts with the contract (e.g., sending crypto or making a request), the contract runs automatically, following its coded logic



Our Advantages

- Innovation at Our Core: We constantly evolve our tools and services to ensure you're equipped with the latest in trading technology.
- Security First: We prioritize the security of your data and transactions with the highest industry standards.
- Expert Support: Our experienced team is here to guide you every step of the way, offering personalized advice and assistance.
- Global Reach: No matter where you're located, we provide access to global markets and trading opportunities.



Profitable Plans

\$

• We provide best option for investment and finance for our clients to earn better returns..

Qualified Standards

• We only provide plans from qualified and registered platform and organization.

Stable Profit

• We guarantee you the stable and secured risk free income at best of your selected investment package..



Partners





Profitable Plan

Get ready to roll in the profits with our lineup of investment plans that are like having a personal financial wizard by your side, helping you inch closer to your money dreams every step of the way









Types of Earning

Direct Benefits

Level Board Benefits

One Time Reward + Monthly Reward

Leadership Benefits

Daily Salary Benefits

Self Investment Benefits





Direct Referral Benefits



œ

\$



Level Board Benefits (\$26 Globally)

Level	Income X Members	Total Income	Re-Entry	
1	\$2 X 2	\$4	_	
2	\$2 X 4	\$8	_	
3	\$2 X 8	\$16	_	
4	\$2 X 16	\$32	_	
5	\$2 X 32	\$64	_	
6	\$2 X 64	\$128	\$100 Id Re-Entry	
7	\$3 X 128	\$384	\$100 Id Re-Entry	
8	\$3 X 256	\$768	\$100 Id Re-Entry	
9	\$4 X 512	\$2048	\$100 Id Re-Entry	
10	\$4 X 1024	\$4096	\$100 Id Re-Entry	
Total: \$7545				

Note: Till Level 6, 6 Id Directs compulsory for getting all level income.



One Time Reward + Monthly Reward Benefits (\$26 Globally)

Level	One Time Reward	Monthly Reward
6	\$200	\$100 Till 6 Months
8	\$400	\$200 Till 6 Months
10	\$600	\$400 Till 6 Months





Leadership Benefits (\$20 Globally)

Level	Members	Income	Your Income
0	2 X \$20	\$40	\$20
1	4 X \$20	\$80	\$40
2	8 X \$40	\$320	\$160
3	16 X \$160	\$2560	\$1760
4	32 X \$800	\$25600	\$21600
5	64 X \$4000	\$256000	\$236000
6	128 X \$20000	\$2560000	



Daily Salary Benefits

Daily Salary Benefits

Direct

6 डायरेट के साथ आपका इंटरनल टीम साईज कुल 14 ID's या 3 Level कम्पलीट होते ही आप 23 sm Daily Salary Achiever बन जायेंगे, जहाँ पर ग्लोबली ID's से \$8 निकाल कर सभी Salary Achiever में बराबर-बराबर बाँट दिया जायेगा।



Self Investment Benefits Without Making Any Team

By Activation of \$100 you will get \$120 + 20% Principal **Return Guaranteed** 10% Self Topup Referral Bonus: \$10 60% Self topup Global Entry Pool: \$60 30% Backup Fund Gift Wallet: \$30 Total :100% Total: \$100







\$100-\$120+\$120(Gift)+\$50=\$2908

Terms & Conditions

Regarding Self Investment

You Can Do A Self Investment Of \$100 Or Its Multiples Multiple Times A Day.

 On Each Investment Or Re-investment, You Will Receive A Betting Number. When This Number Hits 0, You Will Get A Global Entry 1:1 Reward Of \$60 + \$60 = \$120 As Auto Withdrawal.

If You Do 5 Self Investment Or Re-investment On The Same Day, You Will Receive 1 Top-up Id As A Free Gift (\$120 Value).

If There Are 5 Direct Referrals Or 5 Re-top-ups On The Same Day, The Sponsor Will Get 1 Gift Id (\$120 Value).

In 23 Sm, If You Do 1 Direct Registration + Self Investment, You Will Receive 1 Active Id As A Free Gift (\$120 Value).

To Receive Referral Bonuses Or Gift Ids, It Is Mandatory To Be Active In Self Investment.











For Your Attention

www.23starmaxglobal.com